# Differentiation along Multivector Fields 

N. Broojerdian ${ }^{a}$, E. Peyghan ${ }^{b}$ and A. Heydari ${ }^{c}$,*<br>${ }^{a}$ Department of Mathematics and Computer Science, AmirKabir University, Tehran, Iran<br>${ }^{b}$ Faculty of Science, Department of Mathematics, Arak University, Arak, Iran<br>${ }^{c}$ Department of Mathematics, Tarbiat Modares University, Tehran, Iran<br>\[ \begin{aligned} \& E-mail: broojerd@aut.ac.ir<br>\& E-mail: e-peyghan@araku.ac.ir<br>\& E-mail: aheydari@modares.ac.ir \end{aligned} \]


#### Abstract

The Lie derivation of multivector fields along multivector fields has been introduced by Schouten (see [10, 11]), and studdied for example in [5] and [12]. In the present paper we define the Lie derivation of differential forms along multivector fields, and we extend this concept to covariant derivation on tangent bundles and vector bundles, and find natural relations between them and other familiar concepts. Also in spinor bundles, we introduce a covariant derivation along multivector fields and call it the Clifford covariant derivation of that spinor bundle, which is related to its structure and has a natural relation to its Dirac operator.


Keywords: Clifford bundle, Dirac operator, Hodge Operator, Multivector field, Spinor bundle.

2000 Mathematics subject classification: 53C99, 53A99, 58A99.

[^0]
## 1. Introduction

The Schouten-Nijenhuis bracket was discovered by J. A. Schouten (see [10, 11]), and A. Nijenhuis established, in [7], its main properties. A strong renewal of interest in that bracket occurred when A. Lichnerowicz began to consider generalizations of symplectic or contact structures which involve contravariant tensor fields rather than differential forms.
The Properties of the Schouten-Nijenhuis bracket were very actively investigated in the last years $[5,8]$, as well as its very numerous applications, in particular to Poisson geometry and Poisson cohomology [3, 8, 13, 14, 17], bihamiltonian manifolds and integrable systems [4], Poisson-Lie groups [1].

In [10], Schouten introduced the differential invariant of two purely contravariant tensor fields. Then in [7], Nijenhuis showed that for skew symmetric contravariant tensor fields (also called skew multivector fields) this satisfies the Jacobi identity and gives at the same time a structure of a graded Lie algebra to the space of all multivector fields. The same is true for the symmetric multivector fields. In [12], Tulczyjew gave a coordinate free treatment of the bracket for skew multivector fields and clarified its relation to certain differential operators on the space of differential forms, which are similar to those of the better known and more important Frolicher-Nijenhuis bracket for tangent bundle valued different forms.

In the paper [6], the authours have studied the algebra of derivation of scalar and vector-valued forms along the tangent bundle projection $\tau: T M \rightarrow M$. Spinor bundle and Dirac operator have important applications in various fields including geometry and theoretical physics $[15,16]$. For this reason, in this paper, we introduce a covariant derivation along multivector fields in a Spinor bundle and find some relation between it and the corresponding Dirac operator.

## 2. Preliminaries

First, we recall some notations from multilinear algebra. In this paper $V$ is an arbitrary $n$ dimensional real vector space. The dual of $V$ is denoted by $V^{*}$ and its $l$-outer product is denoted by $\Lambda^{l} V$. The elements of $\Lambda^{l} V$ and $\Lambda^{l} V^{*}$ are called respectively $l$-vectors and $l$-forms on $V . \Lambda^{0} V=\mathbb{R}$, and set $\Lambda V=\oplus_{l=0}^{n} \Lambda^{l} V$. For a vector $v \in V$, the outer product of $l$-vectors by $v$ is an operator which is denoted by $\mu_{v}$, while the interior product with $v$ of $l$-forms is an operator denoted by $i_{v}$.

$$
\begin{array}{rlrlll}
\mu_{v}: \Lambda^{l} V & \longrightarrow \Lambda^{l+1} V & & i_{v}: \Lambda^{l} V^{*} & \longrightarrow \Lambda^{l-1} V^{*} \\
X & \longmapsto v \wedge X & & & \longmapsto & i_{v}(X) .
\end{array}
$$

For blade $k$-vectors $(1 \leq k) v_{1} \wedge \cdots \wedge v_{k}$, the operators $\mu_{v_{1} \wedge \cdots \wedge v_{k}}$ and $i_{v_{1} \wedge \cdots \wedge v_{k}}$ are defined by

$$
\mu_{v_{1} \wedge \cdots \wedge v_{k}}=\mu_{v_{1}} \circ \cdots \circ \mu_{v_{k}} \quad, \quad i_{v_{1} \wedge \cdots \wedge v_{k}}=i_{v_{k}} \circ \cdots \circ i_{v_{1}}
$$

These definitions are well defined and extend linearly to all $k$-vectors $X \in \Lambda^{k} V$

$$
\mu_{X}: \Lambda^{l} V \longrightarrow \Lambda^{l+k} V \quad, \quad i_{X}: \Lambda^{l} V^{*} \longrightarrow \Lambda^{l-k} V^{*}
$$

Then for scalars $\lambda \in \mathbb{R}$, the operators $\mu_{\lambda}$ and $i_{\lambda}$ are both equal to the operator multiplication by $\lambda$.

The operators $\mu_{X}$ and $i_{X}$ can be extended linearly to all $X \in \Lambda V$ and operate respectively on $\Lambda V$ and $\Lambda V^{*}$. For the natural product between $\Lambda^{l} V$ and $\Lambda^{l} V^{*}(l=0, \ldots, n), \mu_{X}$ and $i_{X}$ are dual to each other (see [2]). For all $X \in \Lambda^{k} V, Y \in \Lambda^{l} V$ and $\omega \in^{k+l} V^{*}$ we have

$$
<\omega, \mu_{X}(Y)>=<i_{X}(\omega), Y>
$$

Similarly, for each $k$-form $\omega \in \Lambda^{k} V^{*}$ the operators $\mu_{\omega}: \Lambda^{l} V^{*} \longrightarrow \Lambda^{l+k} V^{*}$ and $i_{\omega}: \Lambda^{l} V \longrightarrow \Lambda^{l-k} V$ with the same properties can be defined.

To each nonzero $n$-form $\Omega \in \Lambda^{n} V^{*}$, one can associate a Hodge operator $H_{\Omega}: \Lambda^{l} V \longrightarrow \Lambda^{n-l} V^{*}$ which is defined by $H_{\Omega}(X)=i_{X} \Omega$. If $\Omega^{*} \in \Lambda^{n} V$ is the dual of $\Omega$, then we also define $H_{\Omega}^{\prime}: \Lambda^{l} V^{*} \longrightarrow \Lambda^{n-l} V$ by $H_{\Omega}^{\prime}(\omega)=i_{\omega} \Omega^{*}$.

Let $\left\{e_{i}\right\}_{i=1}^{n}$ be a basis of $V,\left\{\alpha_{i}\right\}_{i=1}^{n}$ its dual basis and $\Omega=\alpha_{1} \wedge \cdots \wedge \alpha_{n}$. Then $\Omega^{*}=e_{1} \wedge \cdots \wedge e_{n}$ and for any transformation $\sigma \in S_{n}$ we have

$$
\begin{aligned}
& H_{\Omega}\left(e_{\sigma(1)} \wedge \cdots \wedge e_{\sigma(l)}\right)=\epsilon_{\sigma} \alpha_{\sigma(l+1)} \wedge \cdots \wedge \alpha_{\sigma(n)} \\
& H_{\Omega}^{\prime}\left(\alpha_{\sigma(1)} \wedge \cdots \wedge \alpha_{\sigma(l)}\right)=\epsilon_{\sigma} e_{\sigma(l+1)} \wedge \cdots \wedge e_{\sigma(n)}
\end{aligned}
$$

The Hodge operators $H_{\Omega}$ and $H_{\Omega}^{\prime}$ are nearly inverse to each other and the following relations hold.

$$
\Lambda^{l} V \stackrel{\leftarrow}{\rightarrow} \Lambda^{n-l} V^{*}, \quad H_{\Omega} \circ H_{\Omega}^{\prime}=(-1)^{l(n-l)} \mathbf{1} \quad, \quad H_{\Omega}^{\prime} \circ H_{\Omega}=(-1)^{l(n-l)} \mathbf{1}
$$

For all $X \in \Lambda^{k} V$, the operators $\mu_{X}$ and $i_{X}$ make the following diagram commutative.

$$
\begin{array}{cc}
\quad \Lambda^{l} V \xrightarrow{\mu_{X}} \Lambda^{l+k} V & \\
H_{\Omega} \downarrow & \downarrow H_{\Omega} \\
\Lambda^{n-l} V^{*} \xrightarrow{(-1)^{l k} i_{X}} \Lambda^{n-l-k} V^{*} &
\end{array}
$$

In fact, for every $X \in \Lambda^{k} V$ and $Y \in \Lambda^{l} V$, we have

$$
H_{\Omega}(X \wedge Y)=(-1)^{l k} i_{X} H_{\Omega}(Y)=i_{Y} H_{\Omega}(X)
$$

We can also deduce that for every $\omega \in \Lambda^{k} V^{*}$ and $Y \in \Lambda^{l} V$

$$
H_{\Omega}\left(i_{\omega}(Y)\right)=(-1)^{k(l+1)} \omega \wedge H_{\Omega}(Y) .
$$

In this paper, $M$ is a $n$-dimensional manifold and $f, g \in C^{\infty}(M)$. The set of $C^{\infty}$ sections of $\Lambda^{k}(T M)$ is denoted by $\mathfrak{X}^{k}(M)$ and they are called $k$-vector fields on $M$. Also the set of $C^{\infty}$ sections of $\Lambda^{k}\left(T M^{*}\right)$ is denoted by $A^{k}(M)$ and these are $k$-differential forms on $M$.

Clearly, $\mathfrak{X}^{0}(M)=A^{0}(M)=C^{\infty}(M)$, and $\mathfrak{X}^{1}(M)=\mathfrak{X}(M)$. Set $A(M)=$ $\oplus_{k=0}^{n} A^{k}(M)$ and $\mathfrak{X}^{*}(M)=\oplus_{k=0}^{n} \mathfrak{X}^{k}(M)$. For each $k$-vector field $U \in \mathfrak{X}^{k}(M)$,
$\mu_{U}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l+k}(M)$ and $i_{U}: A^{l}(M) \longrightarrow A^{l-k}(M)$ are defined pointwise. For a volume element $\Omega \in A^{n}(M)\left(\forall p \in M \quad \Omega_{p} \neq 0\right)$ Hodge operator $H_{\Omega}$ : $\mathfrak{X}^{l}(M) \longrightarrow A^{n-l}(M)$ is defined pointwise. Clearly, the same relations also hold for these operators.

## 3. Lie derivation along multivector fields

For a blade $k$-vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ on $M$ and a $l$-vector field $V \in \mathfrak{X}^{l}(M)$, Lie derivation of $V$ along $U$, is denoted by $L_{U} V$ and defined as follows

$$
L_{U} V=\sum_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge L_{U_{j}} V
$$

This definition can be extended to all $k$-vector fields and this is Schouten bracket of multivector fields, which generalizes the notion introduced in [10, 11] and studied in [5]. For $U \in \mathfrak{X}^{k}(M), L_{U}$ is an operator $\mathfrak{X}^{1}(M) \xrightarrow{L_{U}} \mathfrak{X}^{l+k-1}(M)$, and for $k=1, L_{U}$ is the ordinary Lie derivation. For the function $f, L_{U} f \in$ $\mathfrak{X}^{k-1}(M)$ and we denote it by $U(f)$. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M)$ and $W \in \mathfrak{X}^{\star}(M)$, the following relations hold

$$
\begin{align*}
U(f) & =i_{d f}(U)  \tag{1}\\
L_{f U} V & =f L_{U} V+(-1)^{k} U \wedge V(f),  \tag{2}\\
L_{U} V & =(-1)^{k l} L_{V} U  \tag{3}\\
L_{U}(V \wedge W) & =L_{U} V \wedge W+(-1)^{l(k-1)} V \wedge L_{U} W  \tag{4}\\
L_{U \wedge V} W & =(-1)^{k} U \wedge L_{V} W+(-1)^{l(k-1)} V \wedge L_{U} W \tag{5}
\end{align*}
$$

These relations lead us to define $L_{f} g=0$ and $L_{f} V=V(f)$, for $V \in \mathfrak{X}^{\star}(M)$. To extend the definition to Lie derivation of differential forms along multivector fields, it is useful to define the operator $A: \overbrace{\mathfrak{X} M \times \cdots \times \mathfrak{X} M}^{k \text { times }} \longrightarrow \mathfrak{X}^{k-1}(M)(2 \leq$ $k$ ), as follows

$$
\begin{aligned}
A\left(U_{1}, \cdots, U_{k}\right) & =\sum_{1 \leq i<j \leq k}(-1)^{i+j}\left[U_{i}, U_{j}\right] \wedge U_{1} \wedge \cdots \wedge \hat{U}_{i} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \\
& =\frac{1}{2} \sum_{j=1}^{k}(-1)^{j} L_{U_{j}}\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}\right)
\end{aligned}
$$

The operator $A$ is alternating but it can not be considered as an operator on $\mathfrak{X}^{k}(M)$, because the value of $A\left(U_{1}, \cdots, f U_{j o}, \cdots, U_{k}\right)$ does depend on $j o$. In fact

$$
\begin{aligned}
A\left(U_{1}, \cdots, f U_{j_{0}}, \cdots, U_{k}\right)= & f A\left(U_{1}, \cdots, U_{k}\right)-\left(U_{1} \wedge \cdots \wedge U_{k}\right)(f) \\
& +(-1)^{j_{0}+1} U_{j_{0}}(f) U_{1} \wedge \cdots \wedge \widehat{U}_{j_{0}} \wedge \cdots \wedge U_{k}
\end{aligned}
$$

For the case $k=1$, set $A(U)=0$. The following relation helps us in the computations in which $A$ is involved.

$$
\begin{aligned}
A\left(U_{1}, \cdots, U_{k}, V_{1}, \cdots, V_{l}\right) & =A\left(U_{1}, \cdots, U_{k}\right) \wedge V_{1} \wedge \cdots \wedge V_{l} \\
& +(-1)^{k} U_{1} \wedge \cdots \wedge U_{k} \wedge A\left(V_{1}, \cdots, V_{l}\right)-L_{U_{1} \wedge \cdots \wedge U_{k}}\left(V_{1} \wedge \cdots \wedge V_{l}\right) .
\end{aligned}
$$

The operator $A$ can be used to define exterior derivation as follows (see [9])

$$
\begin{aligned}
<d \omega, U_{1} \wedge \cdots \wedge U_{k}>= & \sum_{j=1}^{k}(-1)^{j+1} U_{j}<\omega, U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}> \\
& +<\omega, A\left(U_{1}, \cdots, U_{k}\right)>
\end{aligned}
$$

where and $U_{1}, \cdots, U_{k} \in \mathfrak{X}^{\star}(M)$.
Now, we can define the Lie derivation of differential forms along multivector fields,

$$
L_{U}(\omega)=\sum_{j=1}^{k}(-1)^{j+1} i_{U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}}\left(L_{U_{j}} \omega\right)-i_{A\left(U_{1}, \cdots, U_{k}\right)}(\omega),
$$

where $\omega \in A(M)$ and a blade $k$ - vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$. This Lie derivation is well defined and we can extend it along all the k-vector fields $U$ by $L_{U}: A^{l}(M) \longrightarrow A^{l-k+1}(M)$. It has the following properties

$$
\begin{align*}
L_{f U}(\omega) & =f L_{U}(\omega)+(-1)^{k+1} d f \wedge i_{U}(\omega)  \tag{6}\\
L_{U}(f \omega) & =f L_{U}(\omega)+i_{U(f)}(\omega)  \tag{7}\\
L_{U}(\omega) & =i_{U}(d \omega)+(-1)^{k+1} d\left(i_{U} \omega\right)  \tag{8}\\
d\left(L_{U} \omega\right) & =(-1)^{k+1} L_{U}(d \omega)  \tag{9}\\
L_{U \wedge V}(\omega) & =i_{V}\left(L_{U} \omega\right)+(-1)^{k} L_{V}\left(i_{U} \omega\right)  \tag{10}\\
L_{U}\left(i_{V} \omega\right) & =(-1)^{l(k-1)}\left(i_{V}\left(L_{U} \omega\right)+i_{L_{U} V}(\omega)\right) \tag{11}
\end{align*}
$$

where $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M)$ and $\omega \in A(M)$. The above relations can be straightforwardly verified, although some of the computations are quite long.

Relation (6) suggests us to define $L_{g}(\omega)=-d g \wedge \omega$, for $\omega \in A(M)$. Clearly all above relations also hold for the case $U=g$. Note that for $U \in \mathfrak{X}^{k}(M)$ and $\omega \in A^{k-1}(M)$, we have $L_{U}(\omega) \in C^{\infty}(M)$ and in fact $L_{U}(\omega)=<d \omega, U>$.

## 4. Covariant Derivations along Multivector Fields

Let $\nabla$ be a connection on $T M$. For each vector field $U \in \mathfrak{X} M$, the covariant differentiation of $l$ - vector fields along $U$ is the operator $\nabla_{U}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l}(M)$. Note that for the case $l=0, \nabla_{U} f$ is defined as $U(f)$. Now, we extend this concept for blade $k$-vector fields $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ as follows

$$
\nabla_{U} V=\Sigma_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge \nabla_{U_{j}} V, \quad \forall V \in \mathfrak{X}^{*}(M)
$$

This operator is well defined and the definition can be extended to covariant differentiation along blade k-vector fields by $\nabla_{U}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l+k-1}(M)$. In the case when $k=0$ the properties of this operator lead us to define $\nabla_{f} V=0$ and they can be extended to all $U \in \mathfrak{X}^{\star}(M)$.

Theorem 4.1. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M)$, $W \in \mathfrak{X}^{\star}(M)$, we have

$$
\begin{align*}
\nabla_{f U} W & =f \nabla_{U} W  \tag{12}\\
\nabla_{U}(f W) & =f \nabla_{U} W+U(f) \wedge W  \tag{13}\\
\nabla_{U \wedge V} W & =(-1)^{k} U \wedge \nabla_{V} W+(-1)^{l(k-1)} V \wedge \nabla_{U} W,  \tag{14}\\
\nabla_{U}(V \wedge W) & =\nabla_{U} V \wedge W+(-1)^{l(k-1)} V \wedge \nabla_{U} W \tag{15}
\end{align*}
$$

If $\nabla$ be torsion free, then

$$
\begin{equation*}
L_{U} V=\nabla_{U} V+(-1)^{l k} \nabla_{V} U \tag{16}
\end{equation*}
$$

Proof. All these relations can be checked by direct computation, so we prove only (16). We can assume $U=U_{1} \wedge \cdots \wedge U_{k}, \quad V=V_{1} \wedge \cdots \wedge V_{l}$. Then we have

$$
\begin{aligned}
& \mathrm{L}_{U} V=L_{U_{1} \wedge \cdots \wedge U_{k}} V_{1} \wedge \cdots \wedge V_{l}=\sum_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge L_{U_{j}}\left(V_{1} \wedge\right. \\
&\left.\cdots \wedge V_{l}\right) \\
&= \sum_{j=1}^{k} \sum_{i=1}^{l}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge V_{1} \wedge \cdots \wedge L_{U_{j}} V_{i} \wedge \cdots \wedge V_{l} \\
&= \sum_{j=1}^{k} \sum_{i=1}^{l}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge V_{1} \wedge \cdots \wedge\left(\nabla_{U_{j}} V_{i}-\nabla_{V_{i}} U_{j}\right) \wedge \cdots \wedge V_{l} \\
&= \sum_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge\left(\sum_{i=1}^{l} V_{1} \wedge \cdots \wedge \nabla_{U_{j}} V_{i} \wedge \cdots \wedge V_{l}\right) \\
&- \sum_{i=1}^{l}(-1)^{j+1+j-1+l-i+l(k-1)} V_{1} \wedge \cdots \wedge \hat{V}_{i} \wedge \cdots \wedge V_{l} \wedge\left(\sum_{j=1}^{k} U_{j} \wedge \cdots \wedge \nabla_{V_{i}} U_{j} \wedge \cdots \wedge U_{k}\right) \\
&= \sum_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge \nabla_{U_{j}}\left(V_{1} \wedge \cdots \wedge V_{l}\right) \\
&+(-1)^{k l} \sum_{i=1}^{l}(-1)^{i+1} V_{1} \wedge \cdots \wedge \hat{V}_{i} \wedge \cdots \wedge V_{l} \wedge \nabla_{V_{i}}\left(U_{1} \wedge \cdots \wedge U_{k}\right) \\
&= \nabla_{U} V+(-1)^{k l} \nabla_{V} U . \square
\end{aligned}
$$

For a connection $\nabla$, the covariant derivation of differential forms along vector fields $U \in \mathfrak{X}(M)$ is an operator $\nabla_{U}: A^{l}(M) \longrightarrow A^{l}(M)$. We can extend this concept for blade $k$-vector fields $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ as follows

$$
\nabla_{U} \omega=\sum(-1)^{j+1} i_{U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots U_{k}}\left(\nabla_{U_{j}} \omega\right), \quad \forall \omega \in A(M) .
$$

This operator is well defined and it can be extended to all $U \in \mathfrak{X}^{k}(M)$, by $\nabla_{U}$ : $A^{l}(M) \longrightarrow A^{l-k+1}(M)$. In the case $k=0$, it is convenient to define $\nabla_{f} \omega=0$, so this operator linearly extens to all $U \in \mathfrak{X}^{*}(M)$.

Theorem 4.2. For $U \in \mathfrak{X}^{k}(M)$ and $\omega \in A(M)$, the following relations hold

$$
\begin{align*}
\nabla_{f U} \omega & =f \nabla_{U} \omega  \tag{17}\\
\nabla_{U}(f \omega) & =f \nabla_{U} \omega+i_{U(f)}(\omega),  \tag{18}\\
\nabla_{U \wedge V} \omega & =i_{V}\left(\nabla_{U} \omega\right)+(-1)^{k l} i_{U}\left(\nabla_{V} \omega\right),  \tag{19}\\
\nabla_{U}\left(i_{V} \omega\right) & =(-1)^{l(k-1)}\left(i_{V}\left(\nabla_{U} \omega\right)+i_{\nabla_{U} V}(\omega)\right) \tag{20}
\end{align*}
$$

If $\nabla$ be torsion free, and $\omega \in A^{k-1}(M)$, then

$$
\begin{equation*}
\nabla_{U} \omega=L_{U} \omega=<d \omega, U>. \tag{21}
\end{equation*}
$$

Proof. Direct computations prove all the above relations. We prove only (19). We can assume $U=U_{1} \wedge \cdots \wedge U_{k}$ and $V=V_{1} \wedge \cdots \wedge V_{l}$. Then we have

$$
\begin{aligned}
\nabla_{U \wedge V} \omega= & \nabla_{U_{1} \wedge \cdots \wedge U_{k} \wedge V_{1} \wedge \cdots \wedge V_{l}} \omega=\sum_{j=1}^{k}(-1)^{j+1} i_{\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \cdots \wedge U_{k} \wedge V_{1} \wedge \cdots \wedge V_{l}\right)}\left(\nabla_{U_{j}} \omega\right) \\
& +\sum_{i=1}^{l}(-1)^{k+i+1} i_{\left(U_{1} \wedge \cdots \wedge U_{k} \wedge V_{1} \wedge \cdots \wedge \hat{V}_{i} \cdots \wedge V_{l}\right)}\left(\nabla_{V_{i}} \omega\right) \\
= & i_{V_{1} \wedge \cdots \wedge V_{l}}\left(\sum_{j=1}^{k}(-1)^{j+1} i_{U_{1} \wedge \cdots \wedge \hat{U}_{j} \cdots \wedge U_{k}}\left(\nabla_{U_{j}} \omega\right)\right) \\
& \left.+(-1)^{k+k(l-1)} i_{U_{1} \wedge \cdots \wedge U_{k}}\left(\sum_{i=1}^{l}(-1)^{i+1} i_{V_{1} \wedge \cdots \wedge \hat{V}_{i} \cdots \wedge V_{l}}\right)\left(\nabla_{V_{i}} \omega\right)\right) \\
= & i_{V}\left(\nabla_{U} \omega\right)+(-1)^{k l} i_{U}\left(\nabla_{V} \omega\right) . \quad \square
\end{aligned}
$$

Now, it is natural that for every $\omega \in A^{k}(M)$ and $U \in \mathfrak{X}^{l}(M)$ to define $\nabla_{\omega} U$ as a ( $k-l+1$ )-differential form by the following relation

$$
<\nabla_{\omega} U, V>=<\omega, \nabla_{U} V>, \quad \forall V \in \mathfrak{X}^{k-l+1}(M)
$$

So, for $\omega \in A^{k}(M), \nabla_{\omega}: \mathfrak{X}^{l}(M) \longrightarrow A^{k-l+1}(M)$.
Theorem 4.3. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M)$ and $\omega \in A^{m}(M)$, the following relations hold
$\nabla_{f \omega} U=f \nabla_{\omega} U$,
(23) $\nabla_{\omega}(f U)=f \nabla_{\omega} U+(-1)^{k(m+1)} d f \wedge i_{U} \omega$,
$\left(24 \nabla_{\omega}(U \wedge V)=(-1)^{l m} i_{V}\left(\nabla_{\omega} U\right)+(-1)^{k(l+m)} i_{U}\left(\nabla_{\omega} V\right)+(-1)^{m(k+l)+1} i_{L_{U} V}(\omega)\right.$.
If $\nabla$ be torsion free, then

$$
\begin{equation*}
L_{U} \omega=\nabla_{U} \omega-(-1)^{k m} \nabla_{\omega} U . \tag{25}
\end{equation*}
$$

Proof. Direct computations prove all the above relations. For example we prove (25). For $W \in \mathfrak{X}^{m-k+1}(M)$, we have

$$
\begin{aligned}
<L_{U} \omega, W> & =i_{W}\left(L_{U} \omega\right)=L_{U \wedge W} \omega-(-1)^{k} L_{W}\left(i_{U} \omega\right) \\
& =\nabla_{U \wedge W} \omega-(-1)^{k} \nabla_{W}\left(i_{U} \omega\right) \\
& =i_{W}\left(\nabla_{U} \omega\right)+(-1)^{k(m-k+1)} i_{U}\left(\nabla_{W} \omega\right)-(-1)^{k+k(m-k)}\left(i_{U}\left(\nabla_{W} \omega\right)+\right. \\
& \left.i_{\nabla_{W} U}(\omega)\right) \\
& =<\nabla_{U} \omega, W>-(-1)^{k m}<\omega, \nabla_{W} U> \\
& =<\nabla_{U} \omega-(-1)^{k m} \nabla_{\omega} U, W>.
\end{aligned}
$$

## 5. Divergence

Consider a fixed volume element $\Omega$ on the manifold $M$. Associated to $\Omega$, there exists a dual operator to the exterior derivation $d: A^{k}(M) \longrightarrow A^{k+1}(M)$ which is called divergence operator. This is a homogenous differential operator on multivector fields of degree $-1, \delta: \mathfrak{X}^{k}(M) \longrightarrow \mathfrak{X}^{k-1}(M)$, and defined as follows (see [9])

$$
\begin{array}{ll}
A^{n-k}(M) \xrightarrow{d} A^{n-k+1}(M) \\
H_{\Omega} \uparrow & \downarrow H_{\Omega}^{\prime} \\
\mathfrak{X}^{k}(M) \xrightarrow{(-1)^{n(k+1)+1} \delta} \mathfrak{X}^{k-1}(M) &
\end{array}
$$

$\delta$ depends on $\Omega$, but for any nonzero scalar $\lambda$, changing $\Omega$ to $\lambda \Omega$ does not change $\delta$.
Theorem 5.1. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{*}(M)$, and $\omega \in A^{m}(M)$, the following relations hold for the divergence operator

$$
\begin{align*}
\delta^{2} & =0  \tag{26}\\
H_{\Omega}(\delta U) & =-L_{U} \Omega  \tag{27}\\
\delta U & =(-1)^{(n+1)(k+1)+1} H_{\Omega}^{\prime}\left(L_{U} \Omega\right),  \tag{28}\\
\delta(f U) & =f \delta U-U(f),  \tag{29}\\
\delta(U \wedge V) & =\delta U \wedge V+(-1)^{k} U \wedge \delta V-L_{U} V  \tag{30}\\
\delta\left(L_{U} V\right) & =-L_{\delta U} V+(-1)^{k+1} L_{U} \delta V  \tag{31}\\
\delta\left(i_{\omega} U\right) & =(-1)^{m}\left(i_{\omega} \delta U-i_{d \omega} U\right) \tag{32}
\end{align*}
$$

Proof. We prove only (30). If $V \in \mathfrak{X}^{l}(M)$, then we have

$$
\begin{aligned}
\delta(U \wedge V)= & (-1)^{(n+1)(k+l+1)+1} H_{\Omega}^{\prime}\left(L_{U \wedge V} \Omega\right) \\
= & (-1)^{(n+1)(k+l+1)+1} H_{\Omega}^{\prime}\left(i_{V}\left(L_{U} \Omega\right)+(-1)^{k} L_{V}\left(i_{U} \Omega\right)\right) \\
= & (-1)^{(n+1)(k+l+1)+1} H_{\Omega}^{\prime}\left(i_{V}\left(L_{U} \Omega\right)+(-1)^{k+k(l+1)}\left(i_{U}\left(L_{V} \Omega\right)+i_{L_{V} U} \Omega\right)\right) \\
= & (-1)^{(n+1)(k+l+1)+1}\left((-1)^{l(n-k)} V \wedge H_{\Omega}^{\prime}\left(L_{U} \Omega\right)+(-1)^{k l+k(n-l)} U \wedge H_{\Omega}^{\prime}\left(L_{V} \Omega\right)\right. \\
& \left.+(-1)^{k l} H_{\Omega}^{\prime} H_{\Omega}\left(L_{V} U\right)\right) \\
= & (-1)^{l(k+1)} V \wedge \delta U+(-1)^{k} U \wedge \delta V+(-1)^{k l+1} L_{V} U \\
= & \delta U \wedge V+(-1)^{k} U \wedge \delta V-L_{U} V .
\end{aligned}
$$

Let $\nabla$ be a torsion free connection on $M$, and $\left\{E_{i}\right\}_{i=1}^{n}$ a local basis of vector fields and $\left\{\alpha_{i}\right\}_{i=1}^{n}$ its dual basis of local 1-differential forms. Then for any $\omega \in A(M), d \omega$ can be expressed by [9]

$$
d \omega=\sum_{i=1}^{n} \alpha_{i} \wedge \nabla_{E_{i}} \omega
$$

Also, if $\nabla \Omega=0$, then for any $U \in \mathfrak{X}^{*}(M), \delta U$ can be expressed by

$$
\delta U=-\sum_{i=1}^{n} i_{\alpha_{i}}\left(\nabla_{E_{i}} U\right) .
$$

## 6. Differentiation in Clifford Bundles

In this section, first we recall some preliminary notions. Let $V$ be a $n$ dimensional real inner product vector space. we can identify $V$ and $V^{*}$ via the following isomorphisms

$$
\begin{array}{ccc}
\#: V \longrightarrow V^{*} & , & b: V^{*} \longrightarrow V \\
v^{\#}(u)=<v, u> & , \quad<\alpha^{b}, v>=\alpha(v),
\end{array}
$$

Where $u, v \in V$ and $\alpha \in V^{*}$. These isomorphisms are inverse to each other and they can be extended to isomorphism between $\Lambda^{k} V$ and $\Lambda^{k} V^{*}$ with the same properties. If $V$ is oriented, then $V$ has a canonical volume element $\Omega \in \Lambda^{n} V^{*}$. If $\left\{e_{i}\right\}_{i=1}^{n}$ is a positive oriented orthonormal basis, $\left.\left(<e_{i}, e_{j}\right\rangle= \pm \delta_{i j}\right)$, and $\left\{\alpha_{i}\right\}_{i=1}^{n}$ is its dual basis, then $\Omega=\alpha_{1} \wedge \cdots \wedge \alpha_{n}$ and $\Omega$ do not depend on the choice of the basis. Then, we have the canonical Hodge operators $H_{\Omega}$ and $H_{\Omega}^{\prime}$. By identification of $\wedge^{k} V$ and $\wedge^{k} V^{*}, H_{\Omega}$ and $H_{\Omega}^{\prime}$ give rise to the operators $H, H^{\prime}: \wedge^{k} V \longrightarrow \wedge^{n-k} V$ defined by the following relations

$$
H(U)=H_{\Omega}(U)^{b}, H^{\prime}(U)=H_{\Omega}^{\prime}\left(U^{\#}\right)
$$

If inner product of $V$ is of the type $(r, s)$, then $H^{\prime}=(-1)^{s} H$. For any $U \in \wedge^{k} V$, the interior product operator $i_{U}$ can be considered as an operator from $\wedge^{l} V$ to $\wedge^{l-k} V$ as follows

$$
i_{U} W=\left(i_{U} W^{\#}\right)^{b}=i_{U \#} W, \quad \forall W \in \wedge^{l} V .
$$

The perivious properties of Hodge operator hold in this case. For example, if $U \in \wedge^{k} V$ and $W \in \wedge^{l} V$, then

$$
\begin{aligned}
H(U \wedge W) & =(-1)^{k i} i_{U} H(W), \\
H\left(i_{U}(W)\right) & =(-1)^{k(l+1)} U \wedge H(W)
\end{aligned}
$$

Now, if $M$ is a semi-Riemannian oriented $n$-dimensional manifold, then all above notions hold pointwise in the fibers of $T M$, and we can identify $A^{k}(M)$ and $\mathfrak{X}^{k}(M)$ by the following isomorphisms

$$
\mathfrak{X}^{k}(M) \xrightarrow{\#} A^{k}(M), \quad A^{k}(M) \xrightarrow{b} \mathfrak{X}^{k}(M) .
$$

There exists a canonical volume element $\Omega \in A^{n}(M)$, and we get the canonical Hodge operator $H: \mathfrak{X}^{k}(M) \longrightarrow \mathfrak{X}^{n-k}(M)$. Now, we can reduce all operators with domain and range $\mathfrak{X}^{*}(M)$ or $A(M)$ to operators whose domains and ranges are $\mathfrak{X}^{*}(M)$. For example, for $U \in \mathfrak{X}^{k}(M)$, we define $i_{U}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l-k}(M)$ as follows

$$
i_{U} V=i_{U \#}(V)=\left(i_{U} V^{\#}\right)^{b}
$$

Lie derivation $L_{U}: A^{l}(M) \longrightarrow A^{l-k+1}(M)$, defines a derivation

$$
\begin{gathered}
L_{U}^{\prime}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l-k+1}(M), \\
V \longrightarrow\left(L_{U} V^{\#}\right)^{b} .
\end{gathered}
$$

The exterior derivation $d: A^{k}(M) \longrightarrow A^{k+1}(M)$ induces an operator

$$
\begin{gathered}
\bar{d}: \mathfrak{X}^{k}(M) \longrightarrow \mathfrak{X}^{k+1}(M), \\
U \longrightarrow\left(d U^{\#}\right)^{b} .
\end{gathered}
$$

For a local orthonormal basis $\left\{E_{i}\right\}_{i=1}^{n}\left(<E_{i}, E_{j}>= \pm \delta_{i j}\right)$ of $M$, set $\hat{j}=<E_{j}, E_{j}>$. If $\nabla$ is the Levi-civita connection of $M$, then for every $U \in \mathfrak{X}^{*}(M)$, we have

$$
\begin{aligned}
& \bar{d}(U)=\sum_{j=1}^{n} \hat{j} E_{j} \wedge \nabla_{E_{j}} U, \\
& \delta U=-\sum_{j=1}^{n} \hat{j} i_{E_{j}}\left(\nabla_{E_{j}} U\right) .
\end{aligned}
$$

For $U \in \mathfrak{X}^{k}(M)$ and $w \in A^{k}(M)$, the operators

$$
\nabla_{U}: A^{l}(M) \longrightarrow A^{l-k+1}(M), \quad \nabla_{\omega}: \mathfrak{X}^{l}(M) \longrightarrow A^{k-l+1}(M)
$$

induce the following operators

$$
\begin{array}{ccc}
\nabla_{U}^{\prime}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{l-k+1}(M) & , \quad \nabla_{U}^{\prime \prime}: \mathfrak{X}^{l}(M) \longrightarrow \mathfrak{X}^{k-l+1}(M) \\
\nabla_{U}^{\prime} V=\left(\nabla_{U} V^{\#}\right)^{b} & , & \nabla_{U}^{\prime \prime} V=\left(\nabla_{U \#} V\right)^{b} .
\end{array}
$$

By (17) - (25), we can find similar relations for these operators. For example from relation (25), for $U \in \mathfrak{X}^{k}(M)$ and $V \in \mathfrak{X}^{l}(M)$ we can infer

$$
L_{U}^{\prime} V=\nabla_{U}^{\prime} V-(-1)^{k l} \nabla_{V}^{\prime \prime} U
$$

Let us denote the Clifford algebra of each $T_{p} M$ by $C l\left(T_{p} M\right)$. Then we can construct the Clifford bundle of $M, C l(T M)=\cup_{p \in M} C l\left(T_{p} M\right) . C l(T M)$, as a vector bundle, is isomorphic to $\wedge T M$, and its sections are multivector fields (see [9]). For $U \in \mathfrak{X}^{*}(M)$, we can consider all the operators $L_{U}, L_{U}^{\prime}, \bar{d}, \delta, \nabla_{U}, \nabla_{U}^{\prime}, \nabla_{U}^{\prime \prime}$, as operators which act on the sections of $C l(T M)$ and yield sections of $C l(T M)$. But the Clifford multiplication of $C l(T M)$ gives it a new structure and this new structure produce a new covariant derivation. For a blade $k$ - vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ and a multivector field $V$, we define

$$
\hat{\nabla}_{U} V=\sum_{j=1}^{k}(-1)^{j+1}\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}\right) \nabla_{U_{j}} V
$$

The above multiplication between $U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}$ and $\nabla_{U_{j}} V$ is Clifford multiplication. This operator is well defined and the definition can be extended along all $U \in \mathfrak{X}^{*}(M)$. For the case $k=0$, we define $\hat{\nabla}_{f} V=0$, so this operator can be extended linearly to all $U \in \mathfrak{X}^{*}(M)$. We call this operator Clifford covariant derivation of $C l(T M)$. Clearly, if $U \in \mathfrak{X}^{1}(M)$, then for all $V \in \Gamma C l(T M)$

$$
\hat{\nabla}_{U} V=\nabla_{U} V=\nabla_{U}^{\prime} V
$$

And, if $U \in \mathfrak{X}^{2}(M)$, then

$$
\hat{\nabla}_{U} V=\nabla_{U} V-\nabla_{U}^{\prime} V
$$

Theorem 6.1. For vector fields $U_{1}, \cdots, U_{k}$ and $U, V \in \mathfrak{X}^{*}(M)$ the following relations hold

$$
\begin{align*}
\hat{\nabla}_{f U} V & =f \hat{\nabla}_{U} V  \tag{33}\\
\hat{\nabla}_{U} f V & =f \hat{\nabla}_{U} V+U(f) V  \tag{34}\\
\hat{\nabla}_{U_{1} \cdots U_{k}} V & =\sum_{j=1}^{k}(-1)^{j+1} U_{1} \cdots \hat{U}_{j} \cdots U_{k} \nabla_{U_{j}} V \tag{35}
\end{align*}
$$

Proof. We prove only (35). Suppose $\left\{E_{i}\right\}_{i=1}^{n}$ is a local orthonormal basis of vector fields on $M$. Due to the $C^{\infty}(M)$ - linearity of both sides of (35) with respect to $U_{1}, \cdots, U_{k}$, it is sufficient to prove (35) in the case when $U_{1}, \cdots, U_{k}$ are between $E_{1}, \cdots, E_{n}$. First assume that $U_{1}=E_{i_{1}}, \cdots, U_{k}=E_{i_{k}}$ and $i_{1}, \cdots, i_{k}$ are mutually distinct. Then we have

$$
\begin{gathered}
\hat{\nabla}_{E_{i_{1}} \cdots E_{i_{k}}} V=\hat{\nabla}_{E_{i_{1}} \wedge \cdots \wedge E_{i_{k}}} V=\sum_{j=1}^{k}(-1)^{j+1}\left(E_{i_{1}} \wedge \cdots \wedge \hat{E}_{i_{j}} \wedge \cdots \wedge E_{i_{k}}\right) \nabla_{E_{i_{j}}} V \\
=\sum_{j=1}^{k}(-1)^{j+1} E_{i_{1}} \cdots \hat{E}_{i_{j}} \cdots E_{i_{k}} \nabla_{E_{i_{j}}} V
\end{gathered}
$$

If two of $E_{i_{1}}, \cdots, E_{i_{k}}$ are equal, then a simple computation shows that the equality remains valid. By induction we can infer that the equality is valid in general case.

The Clifford covariant derivation has a natural relation with the Dirac operator of $C l(T M)$. If $E_{i i=1}^{n}$ is a local orthonormal positive oriented basis for $T M$, then the Dirac operator $D: \mathfrak{X}^{*}(M) \longrightarrow \mathfrak{X}^{*}(M)$ is defined by

$$
D(U)=\sum_{j=1}^{n} \hat{j} E_{j} \nabla_{E_{j}} U .
$$

$D$ does not depend on the choice of the local basis, and we can find a better formula for $D$. From the properties of Clifford multiplication, we know that

$$
E_{j} \nabla_{E_{j}} U=E_{j} \wedge \nabla_{E_{j}} U+i_{E_{j}}\left(\nabla_{E_{j}} U\right)
$$

Then, we have

$$
\begin{gathered}
D(U)=\sum_{j=i}^{n} \hat{j} E_{j} \nabla_{E_{j}} U=\sum_{j=1}^{n} \hat{j}\left(E_{j} \wedge \nabla_{E_{j}} U+i_{E_{j}}\left(\nabla_{E_{j}} U\right)\right) \\
\quad=\sum_{j=1}^{n} \hat{j} E_{j} \wedge \nabla_{E_{j}} U+\sum_{j=1}^{n} \hat{j} i_{E_{j}}\left(\nabla_{E_{j}} U\right)=\bar{d}(U)-\delta(U) .
\end{gathered}
$$

This implies that $D=\bar{d}-\delta$. Writing this equation for $f U$, we have

$$
\begin{aligned}
D(f U) & =\bar{d}(f U)-\delta(f U)=\bar{d} f \wedge U+f \bar{d} U-(f \delta U-U(f)) \\
& =\bar{d} f \wedge U+f(\bar{d} U-\delta U)+i_{\bar{d} f}(U) \\
& =f D(U)+(\bar{d} f) U
\end{aligned}
$$

Similarly, we obtain

$$
\begin{aligned}
D(U \wedge V) & =\bar{d}(U \wedge V)-\delta(U \wedge V) \\
& =\bar{d} U \wedge V+(-1)^{k} U \wedge \bar{d} V-\delta U \wedge V-(-1)^{k} U \wedge \delta V+L_{U} V \\
& =(\bar{d} U-\delta U) \wedge V+(-1)^{k} U \wedge(\bar{d} V-\delta V)+L_{U} V \\
& =(D U) \wedge V+(-1)^{k} U \wedge(D V)+L_{U} V
\end{aligned}
$$

Now, we note that if $E \in \mathfrak{X}^{1}(M)$, then

$$
\begin{aligned}
& E U=E \wedge U+i_{E}(U) \\
& U E=U \wedge E+(-1)^{k+1} i_{E}(U)
\end{aligned}
$$

So, $E U=(-1)^{k} U E+2 i_{E}(U)$. Therefore we get

$$
\begin{aligned}
D(U V) & =\sum_{j=1}^{n} \hat{j} E_{j} \nabla_{E_{j}}(U V) \\
& =\sum_{j=1}^{n} \hat{j} E_{j}\left(\nabla_{E_{j}} U\right) V+\sum_{j=1}^{n} \hat{j} E_{j} U \nabla_{E_{j}} V \\
& =(D U) V+\sum_{j=1}^{n} \hat{j}\left((-1)^{k} U E_{j}+2 i_{E_{j}}(U)\right) \nabla_{E_{j}} V \\
& =(D U) V+(-1)^{k} U(D V)+2 \sum_{j=1}^{n} \hat{j} i_{E_{j}}(U) \nabla_{E_{j}} V .
\end{aligned}
$$

To compute the last term, we assume that $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$, so

$$
\begin{aligned}
\sum_{j=1}^{n} \hat{j} i_{E_{j}}(U) \nabla_{E_{j}} V & \sum_{j=1}^{n} \hat{j} \sum_{i=1}^{k}(-1)^{i+1}<E_{j}, U_{i}>\left(U_{1} \wedge \cdots \wedge \hat{U}_{i} \wedge \cdots \wedge U_{k}\right) \nabla_{E_{j}} V \\
& =\sum_{i=1}^{k}(-1)^{i+1}\left(U_{1} \wedge \cdots \wedge \hat{U}_{i} \wedge \cdots \wedge U_{k}\right) \nabla_{\sum_{j=1}^{n} \hat{j}<E_{j}, U_{i}>E_{j}} V \\
& =\sum_{i=1}^{k}(-1)^{i+1}\left(U_{1} \wedge \cdots \wedge \hat{U}_{i} \wedge \cdots \wedge U_{k}\right) \nabla_{U_{i}} V \\
& =\hat{\nabla}_{U} V
\end{aligned}
$$

Due to the linearly with respect to $U$ of both sides of this equality, this relation holds for all $U \in \mathfrak{X}^{k}(M)$. Then, we have

$$
D(U V)=(D U) V+(-1)^{k} U(D V)+2 \hat{\nabla}_{U} V
$$

Therefore, we prove the following
Theorem 6.2. For $U \in \mathfrak{X}^{k}(M)$ and $V \in \mathfrak{X}^{*}(M)$ the following relations hold

$$
\begin{align*}
D(f U) & =f D(U)+(\bar{d} f) U  \tag{36}\\
D(U \wedge V) & =(D U) \wedge V+(-1)^{k} U \wedge(D V)+L_{U} V  \tag{37}\\
D(U V) & =(D U) V+(-1)^{k} U(D V)+2 \hat{\nabla}_{U} V \tag{38}
\end{align*}
$$

## 7. Extension to Vector Valued Multivector Fields

To extend the results of the preceding sections to vector valued multivector fields, consider a vector bundle $E \longrightarrow M$. $E$-valued $k$-differential forms on $M$ are sections of $\Lambda^{k} T M^{*} \otimes E$, and $E$-valued $k$-multivector fields on $M$ are sections of $\Lambda^{k} T M \otimes E$. Typical $E$-valued $k$-differential forms can be written as $\omega \otimes X$ in which $\omega \in A^{k}(M)$ and $X \in \Gamma E$, while typical $E$-valued $k$-multivector fields can be written as $U \otimes X$ in which $U \in \mathfrak{X}^{k}(M)$ and $X \in \Gamma E$. The set of all $E$-valued $k$-differential forms and multivector fields are denoted respectively by $A^{k}(M, E)$ and $\mathfrak{X}^{k}(M, E)$ and we set $A(M, E)=\oplus_{k=0}^{n} A^{k}(M, E), \mathfrak{X}^{*}(M, E)=\oplus_{k=0}^{n} \mathfrak{X}^{k}(M, E)$.
For three vector bundles $E, F, G$ on $M$ and a linear bundle morphism $F \otimes E \longrightarrow G$, can
extend the exterior and interior product operators between $F$-valued and $E$-valued differential forms and multivector fields as follows

$$
\begin{aligned}
(\omega \otimes X) \wedge(\theta \otimes Y) & =(\omega \wedge \theta) \otimes(X Y) \in A(M, G), \\
(U \otimes X) \wedge(V \otimes Y) & =(U \wedge V) \otimes(X Y) \in \mathfrak{X}^{*}(M, G), \\
i_{U \otimes X}(\theta \otimes Y) & =i_{U}(\theta) \otimes(X Y) \in A(M, G), \\
i_{\theta \otimes X}(U \otimes Y) & =i_{\theta} U \otimes(X Y) \in \mathfrak{X}^{*}(M, G),
\end{aligned}
$$

for every $\omega, \theta \in A(M), U, V \in \mathfrak{X}^{*}(M)$ and $X \in \Gamma F, Y \in \Gamma E$, where we assume that $(X Y)_{p}=X_{p} \otimes Y_{p}$. These operators are well defined and their actions can be extended to all vector valued differential forms and multivector fields. For example, if $F=M \times \mathbb{R}, G=E$ and

$$
\begin{aligned}
(M \times \mathbb{R}) \otimes E & \longrightarrow E, \\
\quad(p, \lambda) \otimes \xi & \mapsto \lambda \xi
\end{aligned}
$$

then we have the exterior and interior product operators between ordinary differential forms and multivector fields on $M, E$-valued differential forms and multivector fields.

Consider a fixed connection $\nabla$ on a vector bundle $E$. We can define covariant derivation of sections of $E$ along multivector fields on $M$ as follows. For a blade $k$-vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ and $X \in \Gamma E$, we define

$$
\nabla_{U} X=\sum_{j=1}^{k}(-1)^{j+1}\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}\right) \otimes \nabla_{U_{j}} X
$$

This operator is well defined and it extends to all $U \in \mathfrak{X}^{k}(M)$, by

$$
\nabla_{U}: \mathfrak{X}^{0}(M, E)=\Gamma E \longrightarrow \mathfrak{X}^{k-1}(M, E) .
$$

To define $\nabla_{U}$ as an operator on $\mathfrak{X}^{l}(M, E)$, we need a connection on $M$. If $\nabla$ is another connection on $M$, then these connections induce a connection on $\Lambda(T M) \otimes E$ and we denote all of them by $\nabla$. Note that, for $U \in \mathfrak{X}^{*}(M), X \in \Gamma E$ and a vector fields $V$, we have

$$
\nabla_{V}(U \otimes X)=\left(\nabla_{V} U\right) \otimes X+U \otimes \nabla_{V} X
$$

Now, for $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$, we can define $\nabla_{U}: \mathfrak{X}^{l}(M, E) \longrightarrow \mathfrak{X}^{l+k-1}(M, E)$ as follows. For $\mathbf{Y} \in \mathfrak{X}^{*}(M, E)$, we put

$$
\nabla_{U} \mathbf{Y}=\sum_{j=1}^{k}(-1)^{j+1}\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}\right) \wedge \nabla_{U_{j}} \mathbf{Y}
$$

This operator is well defined and it can be extended along all $U \in \mathfrak{X}^{k}(M)$. It can easily be shown that for each typical $E$-valued $l$-vector fields $V \otimes X$, we have

$$
\nabla_{U}(V \otimes X)=\left(\nabla_{U} V\right) \otimes X+(-1)^{l(k-1)} V \wedge \nabla_{U} X
$$

With direct computation, we have
Theorem 7.1. For $U \in \mathfrak{X}(M), V \in \mathfrak{X}^{l}(M)$ and $\mathbf{Y} \in \mathfrak{X}^{*}(M, E)$, the following relations hold

$$
\begin{align*}
\nabla_{f U} \mathbf{Y} & =f \nabla_{U} \mathbf{Y},  \tag{39}\\
\nabla_{U}(f \mathbf{Y}) & =f \nabla_{U} \mathbf{Y}+U(f) \wedge \mathbf{Y},  \tag{40}\\
\nabla_{U \wedge V} \mathbf{Y} & =(-1)^{k} U \wedge \nabla_{V} \mathbf{Y}+(-1)^{l(k-1)} V \wedge \nabla_{V} \mathbf{Y},  \tag{41}\\
\nabla_{U}(V \wedge \mathbf{Y}) & =\left(\nabla_{U} V\right) \wedge \mathbf{Y}+(-1)^{l(k-1)} V \wedge \nabla_{V} \mathbf{Y} . \tag{42}
\end{align*}
$$

To extend the definition of operator $\nabla_{U}$ for all $U \in \mathfrak{X}^{*}(M)$, we need to define $\nabla_{f} \mathbf{Y}$.
Simply, define $\nabla_{f} \mathbf{Y}=0$, then the definition can be extend linearly $\nabla_{U}$ to all $U \in$ $\mathfrak{X}^{*}(M)$. We can easily check that all relations (39)-(42) also hold for the case $k=0$ or $l=0$.
Now, we define covariant derivation of $E$-valued differential forms along multivector fields. For a blade k-vector field $U=U_{1} \wedge \cdots \wedge U_{k}(k \geq l)$, and $\Phi \in A(M, E)$, we define

$$
\nabla_{U} \Phi=\Sigma_{j=1}^{k}(-1)^{j+1} i_{U_{1} \wedge \cdots \hat{U} \cdots \wedge \cdots \wedge U_{k}}\left(\nabla_{U_{j}} \Phi\right) .
$$

This definition is well defined and extends to all $U \in \mathfrak{X}^{k}(M)$, and

$$
\nabla_{U}: A^{1}(M, E) \longrightarrow A^{1-k+1}(M, E) .
$$

Note that the operator $\nabla_{U}$ depends on a connection on $E$ and a connection on $M$. For a typical $F$-valued differential form on $X$ we have

$$
\nabla_{U}(\omega \otimes X)=\left(\nabla_{U} \omega\right) \otimes X+i_{\nabla_{U} X} \omega .
$$

In the case $k=0$, this relation leads us to define $\nabla_{f} \Phi=0$. Similarly to the proof of Theorem 4.2, we can state the following result

Theorem 7.2. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M)$ and $\Phi \in A(M, E)$, the following relations hold

$$
\begin{align*}
\nabla_{f U} \Phi & =f \nabla_{U} \Phi  \tag{43}\\
\nabla_{U}(f \Phi) & =f \nabla_{U} \Phi+i_{U(f)}(\Phi),  \tag{44}\\
\nabla_{U \wedge V} \Phi & =i_{V}\left(\nabla_{U} \Phi\right)+(-1)^{k l} i_{U}\left(\nabla_{V} \Phi\right)  \tag{45}\\
\nabla_{U}\left(i_{V} \Phi\right) & =(-1)^{l(k-1)}\left(i_{\nabla_{U} V}(\Phi)+i_{V}\left(\nabla_{U} \Phi\right)\right) \tag{46}
\end{align*}
$$

For each $\omega \in A^{k}(M)$, we can also define $\nabla_{\omega}: \mathfrak{X}^{l}(M, E) \longrightarrow \mathfrak{X}^{k-l+1}(M, E)$ as follows

$$
\left(\nabla_{\omega} \mathbf{Y}\right)\left(V_{1}, \cdots, V_{k-l+1}\right)=i_{\omega}\left(\nabla_{V_{1} \wedge \cdots \wedge V_{k-l+1}} \mathbf{Y}\right)
$$

for $\mathbf{Y} \in \mathfrak{X}^{l}(M, E)$ and every vector fields $V_{1}, \cdots, V_{k-l+1} \in \mathfrak{X}(M)$. For $1 \leq l, \nabla_{\omega}$ depends on the both connections on $E$ and $M$, but in the case $l=0, \nabla_{\omega}: \mathfrak{X}^{0}(M, E)=$ $\Gamma E \longrightarrow \mathfrak{X}^{k+1}(M, E)$ depends only on the connection on $E$. Then for $X \in \Gamma E$, we have

$$
\left(\nabla_{\omega} X\right)\left(V_{1}, \cdots, V_{k-l+1}\right)=\sum_{j=1}^{k+1}(-1)^{j+1} \omega\left(V_{1}, \cdots, \hat{V}_{j}, \cdots, V_{k+1}\right) \nabla_{V_{j}} X
$$

Therefore, if we consider $\nabla X$ as an $E$-valued 1- differential form, then $\nabla_{w} X=$ $\nabla X \wedge w$. For a typical $E$-valued $l$ - vector field $U \otimes X$, we have

$$
\begin{equation*}
\nabla_{w}(U \otimes X)=\left(\nabla_{w} U\right) \otimes X+(-1)^{l(k-1)} \nabla_{i_{U}(W)} X \tag{47}
\end{equation*}
$$

To extend the concept of Lie derivation of $E$ - valued multivector fields and differential forms along multivector fields, we need a connection on $E$. First, for any vector field $U \in \mathfrak{X}(M)$, and a typical $E$-valued multivector field $V \otimes X$, it is natural to define the operator $L_{U}^{\nabla}$ which is a combination of Lie derivation and covariant derivation as follows

$$
L_{U}^{\nabla}(V \otimes X)=L_{U} V \otimes X+V \otimes \nabla_{U} X
$$

This operator is well defined and it can be extended to all $E$-valued multivector fields. Now, for a blade $k-$ vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ and $\mathbf{Y} \in \mathfrak{X}^{*}(M, E)$, we can define $L_{U}^{\nabla} \mathbf{Y}$ as follows

$$
L_{U}^{\nabla} \mathbf{Y}=\sum_{j=1}^{k}(-1)^{j+1} U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k} \wedge\left(L_{U j}^{\nabla} \mathbf{Y}\right)
$$

This definition is well defined and extends to all $U \in \mathfrak{X}^{k}(M)$. Then for a typical $E-$ valued $l$ - vector field $V \otimes X$ we have

$$
\begin{equation*}
L_{U}^{\nabla}(V \otimes X)=\left(L_{U} V\right) \otimes X+(-1)^{l(k-1)} V \wedge \nabla_{U} X \tag{48}
\end{equation*}
$$

In the case $k=0$, the above relation suggests us to define $L_{f}^{\nabla}(V \otimes X)=V(f) \otimes X$. Clearly for $U \in \mathfrak{X}^{k}(M)$, we have $L_{U}^{\nabla}: \mathfrak{X}^{l}(M, E) \longrightarrow \mathfrak{X}^{l+k-1}(M, E)$.
Using the relation (1)-(5),(39)-(42) and (48) we can prove the following results for typical $E$-valued multivector fields.

Theorem 7.3. For $U \in \mathfrak{X}^{k}(M), V \in \mathfrak{X}^{l}(M), \mathbf{Y} \in \mathfrak{X}^{*}(M, E)$, the following relations hold.

$$
\begin{align*}
L_{U}^{\nabla}(f \mathbf{Y}) & =f L_{U}^{\nabla} \mathbf{Y}+U(f) \wedge \mathbf{Y},  \tag{49}\\
L_{f U}^{\nabla} \mathbf{Y} & =f L_{U}^{\nabla} \mathbf{Y}+(-1)^{k} U \wedge i_{d f}(\mathbf{Y}),  \tag{50}\\
L_{U}^{\nabla}(V \wedge \mathbf{Y}) & =\left(L_{U} V\right) \wedge \mathbf{Y}+(-1)^{l(k-1)} V \wedge L_{U}^{\nabla} \mathbf{Y},  \tag{51}\\
L_{U \wedge V}^{\nabla} \mathbf{Y} & =(-1)^{K} U \wedge L_{V}^{\nabla} \mathbf{Y}+(-1)^{l(K-1)} V \wedge\left(L_{U}^{\nabla} \mathbf{Y}\right) . \tag{52}
\end{align*}
$$

In the same manner we can define Lie derivation of $E$-valued differential forms. First, for any vector field $U \in \mathfrak{X}(M)$, and any typical element $\omega \otimes X$ of $A(M, E)$ we define

$$
L_{U}^{\nabla}(\omega \otimes X)=L_{U} \omega \otimes X+\omega \otimes \nabla_{U} X
$$

This operator is well defined and it can be extended to the Lie derivation of all the elements of $A(M, E)$. Now, for a blade $k-$ vector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ and $\Phi \in A(M, E)$ we define

$$
L_{U}^{\nabla} \Phi=\sum_{j=1}^{k}(-1)^{j+1} i_{U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}}\left(L_{U j}^{\nabla} \Phi\right)-i_{A\left(U_{1}, \cdots, U_{k}\right)}(\Phi) .
$$

It is obvious that, the above operator is well defined and we can extend the definition to all $U \in \mathfrak{X}^{k}(M)$. For typical elements $\omega \otimes X$ of $A(M, E)$ we have

$$
\begin{equation*}
L_{U}^{\nabla}(\omega \otimes X)=\left(L_{U} \omega\right) \otimes X+i_{\nabla_{U} X}(\omega) \tag{53}
\end{equation*}
$$

Using (6), (7) and (53), we can prove for $U \in \mathfrak{X}^{k}(M), \Phi \in A(M, E)$, the following relations

$$
\begin{align*}
L_{f U}^{\nabla} \Phi & =f L_{U}^{\nabla} \Phi+(-1)^{k+1} d f \wedge i_{U}(\Phi)  \tag{54}\\
L_{U}^{\nabla}(f \Phi) & =f L_{U}^{\nabla}(\Phi)+i_{U(f)}(\Phi) \tag{55}
\end{align*}
$$

For a connection $\nabla$ on a vector bundle $E$, its associated exterior derivation $d^{\nabla}: A^{k}(M, E) \longrightarrow A^{k+1}(M, E)$ was defined in [9], as follows

$$
\left(d^{\nabla} \Phi\right)\left(U_{1}, \cdots, U_{k+1}\right)=\sum_{j=1}^{k+1}(-1)^{j+1} \nabla_{U_{j}} \Phi\left(U_{1}, \cdots, \hat{U}_{j}, \cdots U_{k+1}\right)+i_{A\left(U_{1}, \cdots, U_{k+1}\right)}(\Phi)
$$

Where $\Phi \in A^{k}(M, E)$ and $U_{1}, \cdots, U_{k+1} \in \mathfrak{X}(M)$. For a typical element $\omega \otimes X$ of $A^{k}(M, E)$, a simple computation shows that

$$
\begin{equation*}
d^{\nabla}(\omega \otimes X)=d \omega \otimes X+\nabla_{\omega} X=d \omega \otimes X+(-1)^{k} w \wedge \nabla X \tag{56}
\end{equation*}
$$

For a volume element $\Omega \in A^{n}(M)$, the Hodge operators $H_{\Omega}$ and $H_{\Omega}^{\prime}$ can be extended to $E$-valued differential forms and multivector fields as follows

$$
\begin{array}{rlllll}
H_{\Omega}: \mathfrak{X}^{k}(M, E) & \longrightarrow & A^{n-k}(M, E) & , & H_{\Omega}^{\prime}: A^{k}(M, E) & \longrightarrow \\
\mathfrak{X}^{n-k}(M, E) \\
U \otimes X & \longmapsto & H_{\Omega}(U) \otimes X & , & \omega \otimes X & \longmapsto
\end{array} H_{\Omega}^{\prime}(\omega) \otimes X .
$$

These operators are well defined and by them we can define a divergence operator on $E-$ valued multivector fields, which depends on $\nabla$ and which is denoted by $\delta^{\nabla}$.

$$
\delta^{\nabla}: \mathfrak{X}^{k}(M, E) \longrightarrow \mathfrak{X}^{k-1}(M, E) \quad \delta^{\nabla}=(-1)^{n(k+1)+1} H_{\Omega}^{\prime} \circ d^{\nabla} \circ H_{\Omega} .
$$

By definition, we can see that $\delta^{\nabla}$ also depends on $\Omega$.
Theorem 7.4. If $U \in \mathfrak{X}^{*}(M)$ and $X \in \Gamma E$, then

$$
\begin{equation*}
\delta^{\nabla}(U \otimes X)=(\delta U) \otimes X-\nabla_{U} X \tag{57}
\end{equation*}
$$

Proof. Let $U \in \mathfrak{X}^{k}(M)$. In the first we prove

$$
\nabla_{H_{\Omega}(U)} X=(-1)^{k+1} H_{\Omega}\left(\nabla_{U} X\right)
$$

For an arbitrary $W \in \mathfrak{X}^{n-k+1}(M)$, we compute $<W, \nabla_{H_{\Omega}(U)} X>$ and $<W, H_{\Omega}\left(\nabla_{U} X\right)>$.

$$
\begin{aligned}
<W, \nabla_{H_{\Omega}(U)} X> & =<H_{\Omega}(U), \nabla_{W} X>=<i_{U}(\Omega), \nabla_{W} X>=<\Omega, U \wedge \nabla_{W} X> \\
<W, H_{\Omega}\left(\nabla_{U} X\right)> & =<W, i_{\left(\nabla_{U} X\right)} \Omega>=<\nabla_{U} X \wedge W, \Omega>
\end{aligned}
$$

From (41) we have
$\nabla_{U \wedge W} X=(-1)^{k} U \wedge \nabla_{W} X+(-1)^{(n-k+1)(k-1)} W \wedge \nabla_{U} X=(-1)^{k} U \wedge \nabla_{W} X+\nabla_{U} X \wedge W$.
Since the order of $U \wedge W$ is $n+1$, we have that $U \wedge W=0$ and $\nabla_{U} X \wedge W=$ $(-1)^{k+1} U \wedge \nabla_{W} X$ which yield the result. Now, we compute $\delta^{\nabla}(U \otimes X)$.

$$
\begin{aligned}
\delta^{\nabla}(U \otimes X) & =(-1)^{n(k+1)+1} H_{\Omega}^{\prime}\left(d^{\nabla}\left(H_{\Omega}(U \otimes X)\right)\right)=(-1)^{n(k+1)+1} H_{\Omega}^{\prime}\left(d^{\nabla}\left(H_{\Omega}(U) \otimes X\right)\right) \\
& =(-1)^{n(k+1)+1} H_{\Omega}^{\prime}\left(d H_{\Omega}(U) \otimes X+\nabla_{H_{\Omega}(U)} X\right) \\
& =(-1)^{n(k+1)+1} H_{\Omega}^{\prime} \circ d \circ H_{\Omega}(U) \otimes X+(-1)^{n(k+1)+1} H_{\Omega}^{\prime}\left((-1)^{k+1} H_{\Omega}\left(\nabla_{U} X\right)\right) \\
& =\delta U \otimes X-\nabla_{U} X .
\end{aligned}
$$

Corollary 7.5. For $U \in \mathfrak{X}^{k}(M)$ and $\mathbf{Y} \in \mathfrak{X}^{*}(M, E)$ the following relations hold

$$
\begin{align*}
\delta^{\nabla}(f \mathbf{Y}) & =f \delta^{\nabla} \mathbf{Y}-i_{d f}(\mathbf{Y}),  \tag{58}\\
\delta^{\nabla}(U \wedge \mathbf{Y}) & =(\delta U) \wedge \mathbf{Y}+(-1)^{k} U \wedge \delta^{\nabla} \mathbf{Y}-L_{U}^{\nabla} \mathbf{Y} \tag{59}
\end{align*}
$$

Proof. It is sufficient to prove the above relations for typical elements of $\mathfrak{X}^{*}(M, E)$. The relations (29), (30) and (57) make the computations easy.

## 8. Differentiation in Spinor Bundles

Let $M$ be a semi-Riemannian manifold, $C l(T M)$ its clifford bundle and $E \longrightarrow M$ a spinor bundle on $M$. Then for a multiplication $C l(T M) \otimes E \longrightarrow E$ and a connection $\nabla$ on $E$, together with Levi-Civita connection of $M$, this multiplication is parallel. If $\left\{E_{i}\right\}_{i=1}^{n}$ is an orthonormal local basis for $M$, then the Dirac operator of this spinor bundle is defined as follows

$$
\begin{gathered}
D: \Gamma E \longrightarrow \Gamma E \\
D(X)=\sum_{i=1}^{n} \hat{i} E_{i} \nabla_{E_{i}} X .
\end{gathered}
$$

This definition does not depend on the choice of the local basis. Now we can define a covariant derivation of the sections of $E$ along the sections of $C l(T, M)$, which is related to the spinor structure of $E$. We call it Clifford covariant derivation of $E$ and we denote it by $\hat{\nabla}$. For a blade multivector field $U=U_{1} \wedge \cdots \wedge U_{k}(1 \leq k)$ and $X \in \Gamma E$ we define

$$
\hat{\nabla}_{U} X=\sum_{j=1}^{k}\left(U_{1} \wedge \cdots \wedge \hat{U}_{j} \wedge \cdots \wedge U_{k}\right) \nabla_{U_{j}} X
$$

This operator is well defined and it can be extended for all $U \in \mathfrak{X}^{k}(M)$. For the case $k=0$, we define $\hat{\nabla}_{f} X=0$, and then we extend the linear operator $\hat{\nabla}_{U}$ to all $U \in \mathfrak{X}^{*}(M)=\Gamma C l(T M)$. By the same method mentioned in the proof of Theorem 6.1, we can prove the following.

Theorem 8.1. For $U \in \mathfrak{X}^{*}(M), X \in \Gamma E, U_{1}, \cdots, U_{k} \in \mathfrak{X}(M)$, the following relations hold

$$
\begin{align*}
\hat{\nabla}_{f U} X & =f \hat{\nabla}_{U} X,  \tag{60}\\
\hat{\nabla}_{U} f X & =f \hat{\nabla}_{U} X+U(f) X,  \tag{61}\\
\hat{\nabla}_{U_{1} \cdots U_{k}} X & =\sum_{j=1}^{k}(-1)^{j+1} U_{1} \cdots \hat{U}_{j} \cdots U_{k} \nabla_{U_{j}} X . \tag{62}
\end{align*}
$$

Note that $\hat{\nabla}$ and the Dirac operator are related by same formula as in Theorem 6.2. Then by a simple calculation, as we explore in the proof of theorem 6.2, we have the following.

Theorem 8.2. For $X \in \Gamma E$ and $U \in \mathfrak{X}^{k}(M)$ we have

$$
\begin{align*}
D(f X) & =f D(X)+(\bar{d} f) X  \tag{63}\\
D(U X) & =(D U) X+(-1)^{k} U(D X)+2 \hat{\nabla}_{U} X \tag{64}
\end{align*}
$$

Acknowledgments. The authors would like to express their gratitude to the referees for careful reading and helpful comments.

## References

[1] M. Cahen, S. Gutt, C. Ohn and M. Park, Lie-Poisson groups: remarks and examples, Lett. Math. Phys., 19, (1990), 343-353.
[2] W. Greub, Multilinear Algebra, Spinger-Verlag, 1993.
[3] J. Huebschmann, Poisson cohomology and quantization, J. Reine Angew. Math., 408, (1990), 57-113.
[4] Y. Kosmann- Schwarzbach and F. Magri, Poisson-Nijenhuis structures, Ann. Inst. Henri Poincare, Phys. Theor., 53, (1990), 35-81.
[5] P.W. Michor, Remarks on the Schouten-Nijenhuis bracket, Proceeding of the Winter school on geometry and physics, 1987, pp. 207-215.
[6] E. Martinez, J. F. Carinena and W. Sarlet, Derivations of differential forms along the tangent bundle projection, Diff. Geometry and its Applications, 3, (1991), 1-29.
[7] A. Nijenhuis, Jacobi-type identities for bilinear differential concomitants certain tensor fields I, Indagations Math., 17, (1955), 390-403.
[8] R. Ouzilou, Hamiltonian actions on Poisson manifolds, in symplectic geometry, Research notes in mathematics, 80, (1983), 172-183.
[9] W. Poor, Differential Geometric Structures, Mc Grew-Hill Book Company 1981.
[10] J. A. Schouten, Über Differentialkonkomitanten zweier kontravariatianter GröBen, Indag. Math., 2, (1940), 449-452.
[11] J. A. Schouten, On the differential operators of the first order in tensor calculus, In Convegno Int. Geom. Diff. Italia, 1953. Ed. Cremonse, Roma, 1954, pp. 1-7.
[12] W. Tulczyjew, The graded Lie algebra of multivector fields and generalized Lie derivative of forms, Bull.Acad. poloa sci., 22, (1974), 937-942.
[13] I.Vaisman, Remark on the Lichnerowicz-Poisson chomology, Ann. Inst. Fourier Grenoble, 40, (1990), 951-963.
[14] I.Vaisman, Lectures on the geometry of Poisson manifolds, Birkhäuser, Boston, 1994.
[15] S. Vacaru, Spectral Functionals, Nonholonomic Dirac Operators, and Noncommutative Ricci Flows, J. Math. Phys., 50, (2009), 1-24.
[16] S. Vacaru and N. Vicol, Nonlinear Connections and Spinor Geometry, Int. J. Math. and Math. Sciences. (IJMMS), 23, (2004), 1189-1237.
[17] P. Xu, Poisson cohomology of regular Poisson manifolds, Ann. Inst. Fourier Grenoble, 42 (1992), 976-988.


[^0]:    * Corresponding Author

    Received 19 July 2010; Accepted 29 November 2010
    (C)2011 Academic Center for Education, Culture and Research TMU

